BERGIERmAL VO w N
UL - I ER)

[=G= =
N 1
i HO ==
T L Mx
I ! .
1
—! t=d
- F -
7‘%@)’&"1‘ 7‘%%)5“]‘
F5E
---_-------
BRC15RO 5 46 26x26  M4x6 40 8.3 60  45X1.5%5.
BRD15R0 56 8
:25;828 ;;Z 32x56 48.8
BRC20LR 30 44 12 5 92'4 M5x8 M6x1 7 15.6 20 18 60  6x9.5x9
: 32x50 63.4
BRD20LR 82.4
= % asas s
sreosir 20 48 125 7 1101 M6x10 M6x1 118 156 23 22 60  7x11x9.5
~ 35x50 79.1
BRD25LR 100.1
:252222 155 40x40 72
srcaor 60 16 9 1313 M8x13 M6xL 10 15.6 28 26 80  9x14x125
~ 40x60 94.3
BRD30LR 121.3
BRD3SRO g5 70 18 9.5 109 5080 g 80 M6xL 15 156 34 29 80  9x14x125
BRD35LR 1348  50x72 105.8
BRD4SRO 4, 86 205 14 1382 60XC0 ) hes 105 M8xL 185 16 45 38 105 14x20x17.5
BRD45LR 163 60x80 129.8

ol EN N e N A A
(C) (C0) (Kg) (kg/m)

BRCISRO 4000 20 850 1350 0. .8 6.8 0.19

BRD15R0

2252828 1400 2400 24 146 14.6 0.31

AR 4000 20 2.6
1650 3000 30 23.8 23.8 0.47

BRD20LR

Eigzzgg 1950 3200 36.8 228 22.8 0.45

TROER 4000 20 3.6
2600 4600 52.9 455 455 0.56

BRD25LR

:252222 2850 4800 67.2 43.2 43.2 0.91

FoeaiD 4000 20 5.2
3600 6400 89.6 75.4 75.4 12

BRD30LR

BRD35R0 4000 20 3850 6200 105.4 62 62 15 72

BRD35LR 4800 8300 1411 109.8 109.8 19

BRD45R0 4000 225 6500 10500 2363 1378 1378 2.3 123

BRD45LR 7700 13000 2925 2109 2109 2.8



	中文版

